il
W
St
%
I

1. THE4
THE4 L) 1| A F IRl e T
THEHA 8 o W A B8 K T P AL DA A o
2. THEHNE
1)  HEI4 FERINNEESFT THE—3
2) &£ T f ) T2
3) T i 235 H [ H AFn 74 8H 9H
= SFn 84 3H31H
4) TEyE

ELAma  JuN TR )R




it
W
=
=
I

TH4 | BlIAAEE SR T

TSy « TfE - FER B {7 ¥ & & A bl B
B - ki = 1 55, 629, 823
FNET = 1 5,700, 098
PRI (1ICT) = 1 3,404, 739 | HHHI (ICT) 2,700 m3
THp A7 iy BEEEEL 5, 000m3ART ;
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
Bt = 1 188, 100 | B&{A (FLt2) ik +- 30 m3
2. 5mATH
%+ (1CT) = 1 226,440 | BEIR (FEER) BE 1 (TICT) 900 m3
BT T (ICT) = 1 1,880,819 |{EMEEETE (G) L) (ICT) 1,610 m2
VY = W R OWhE = CREE L
BRI (B 1356) (ICT) 890 m2
EmEAEE O L
il PH - A A AR 2 1 10, 460, 578
e+ T 2 1 1,693,047 |FRIEY 1 X
+4)
HEL 1 2V
+4)
HEL 1 2V
+4)
HmEEE 1 =X
T wb AT 1 =X
0 Cadl- EHIRY £5Te) ;
[EHL 1 =
+4)
T = 1 4,679,978 | [RIEAH S 43 #
LW RIREARACESE & 2m SARRITIAR
0.3m SHRBCEEFIHE Om ;
SRS AR 6 r5e

T RIS O R S 4m SiRERETIAR

TAZIEE LN )R




it
W
S
%
I

TH4 | BEIA RS g LF
TSy « TfE - FER B {7 ¥ & & # A bl B

2m SARHCEEIB IR Om ;

SRS AR 6 e
TTwE! JENESHRHCE AR S 4. 5m SHRARFTIA
£ 1.6m SRMCEEBIHE Om ;

Al L& S ERRAR 2 e
SYW295 Mwh! $fRMNE S 4m ;

Al L& S ERRAR 2 e
SYW295 Mwh! #fRHE X 4.5m ;

£ 2 *
SD345 D16 L=0.6m ;

[RES = 1 2,645,062 |¥Lay))-} 39 m2

18-8-40 (B 4F) B 10cm ;

ay))=h 51 m3
NZEME 0. 7Tm NZEE & 1m 24-12-25(20) (7
W) —fxEEA av) ) - MR EIE

i53i0) 0.99 t
SD345 D13 ;

T 1 =X
— R

B 1 =X
BRFR Y MLEE

AR 1 X
£<40kN/m2[t<120cm] ;

A = 1 901, 408 | Lavs)-}h 18 m2

18-8-40 (B 4F) B 10cm ;

/7Y =} 15 m3
24-12-25(20) (BF) —fgAE v - MK HEIHE
40 .

i53i0) 0.52 t
SD345 D13 ;

H HihR 2 m2
T W B A =20 ;

1EAKHR 5 m

CE (it 1) 200X 5

TAZIEE LN )R




il
W
>
%
I

TH4 | BlIAAEE SR T

TSy « TfE - FER B {7 # & A bl A iR
T 1 =X
— R
T A 541,083 | ¥ Lav)-} 13 me
18-8-40 (B JF) = 10c m ;
ay))—=h 8 m3
24-12-25(20) (BJF) —fgAE v - MR EIHE
40 .
i53i0) 0.5 t
SD345 D13 ;
i53i0) 0.08 t
SD345 D16~25 ;
H HihR 2 m2
T W B i =20 ;
H HihR 1 m2
T W B i =10 ;
1B 4 m
CF (" 1) 200 X5 ;
T 1 =X
— A
LR L 2 9, 096, 785
EELT = 711,688 |FRIEY 1 X
+4)
HEL 1 2V
+4)
HEL 1 2V
+4)
29 =p7 " my ) T (R EA7 vy 5R) =Y 5,305,980 |HLFT IR -} 25 m
A
18-8-40 (75 47) JEIE 46cm & 50cm ;
BT/ A ka3 ) -} 2 E10
A
18-8-40 (B ) ;
517" ny 5k 215 m2

TAZIEE LN )R




il
W
>
%%%
I

T=E4

B A A A S T

LKy - LA - FER

Eé

fz

%

il il 2

ﬂlj“

150k /{BI K3 &% 350mm J&HE /(7 FAEREG R
C-40 18-8-40 (F¥F) WeAV—ME ;
BT Ky ) -}
A
18-8-40 (& 4F) ;

18

2/))=b7"my ) T (CE7 ny )

1,468, 091

Bl HT Ry ) -
B
18-8-40 (75 /7) JEIE 30cm S 35¢m ;
BEFT/ A 1kay)) -}
B
18-8-40 (B JF) ;
BEFT/ A 1kay)) -}
C
18-8-40 (B JF) ;
BEFT/ A 1kay)) -}
D
18-8-40 (B JF) ;
BEFT/ A 1kay)) -}
E
18-8-40 (B JF) ;
BUEFT/ A 1kay)) -}
F
18-8-40 (B JF) ;
AL =
#FE t=10cm ;
BT Rfgav ) -h
B
18-8-40 (B ) ;
BT Rfgav ) -h
C
18-8-40 (&)

27

101

18

AR T

903, 176

SEaEay ) -}
18-8-25 (F /) M & 15¢m
Sk}

128

m2

77

TAZIEE LN )R




il
W
>
%
I

TH4 | BlIAAEE SR T

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

18-8-40 (7)) ;

WA T = 1 707,850 |HEZ 330 m2
& T 300m2LA_E500m2 A ;

Y iE T Y 1 247, 800

VAVIAY 2V 1 247,800 |77 79—y 2 M
(B L)
£ 100mm £ X 600mm RIEEA ;

HEYE T Y 1 565, 790

e LT it 1 391,090 |22/~ M L 30 m3
MY BRE L

At BB 100 m2
TAT 7V MEERR SHEERRE 5 ¢ m

TE LB T =Y 1 174,700 | %EM 30 m3
20—k (BERR)

By 30 m3
/)Y - hik (AT

By 5 m3
TAT 7V

A Y 1 29, 558, 772

THEHER T = 1 27,655, 772 | L2 HE 1 1 =X
(F&E)
4. omPh Lk

THEHERE L 1 =X
()
4. omPh Lk

BRDF 1 =
(F&E)
RC-40 ¥JE 300mm ;

-5 - E ta2@d Ui




B
T
iy
i
I

TH4 | BlIAAEE SR T

TEHX4y « Tfd - FER B Az £ & #A i il R
HORbF 1 F2V
€ EI)
RC-40 ¥JE 300mm ;
+n9 1 =
(KA (i)
+n9 1 =
(KA ()
VE#IE 1k T Y 443,800 |{5#BS 17 1 =
BRE -
A ERE E T = 1,459,200 | A i@ E Em B 1 =
[ERAE Xy = 55, 629, 823
HiE 2 = 7,591, 000
BISTIGE: = 2,924, 000
TE R = 1,162,000 | HEELER AR o) ARk ST i 2 1 =
HeffrE sy = 1, 146,000 |YA7h@)H#1% (ICT) 1 =
BGRESGESE (5 L) = 616, 000
B (FEHL) = 4,667, 000
T = 63, 220, 823
Bl gy = 18, 258, 000
T =5l = 81, 478, 823
— R A = 14, 321, 177
-6 - E+A8m SN T S




s foAs =
FEAENGRE
T4 | BRI AR W T
TEHX4y « Tfd - FER B Az £ & #A i il R
T =AM = 5, 800, 000

TAZIEE LN )R




